STXR
RE7O0-FE+ A%

B om =R

1REVF—347
Mmt#a®sX UBU603S-04

* BmMTEN DRI, W Ehmitia RN e I EFZELY,
- A mO—ERICIE, FEoH Y MRTDAHDERRAHIET,

= tIHI 7?7 O UST v o



1 REVF—4A4 TR —EX

H@ma—F

K98325

K98326

K98327

K98330

K98331

2
o

MBC603SM

MBCG603SE

MBC1203SE

MBC603SM-0L

MBC603SE-OL




D T3EXIZDNT

HEBRmOMIGERICDONT

GE, FRUHEBEZ ZERE < 7ZE 0,

—

SISICICIcE
S

[y

20 B

ﬁ

S

5=

R

jix3

o Zo Eo

PR

!
)

B O3

XEREREEXIHRRRBE LT, RRICREA
DAR—LTL—FIRRTLTLWET,

2. o =], [ ]iE UFozea®kLT
BOES,

(=] v nl, MABAENTO S WD
B 2 12 0 F72 20

(] 7 v s 5 6 T
TS L7 i

3. RHEEN[ | iceoCnd b olt, il
i EEVD, IR R DD ETOT, ZOH
BE SRR SO & E T,

4. MO —EIZIE, & -y MERTBOHR
DR B T3, THLOBILI TR ZE
W, FERE BRSO 0ERL TR >
MRFED DX E SE W2 & FT,

KEBITWRFICLY FERSBIR - MEEZLE
TLHLZEBRHYET,

FEER A S A IERT A 2 B E O SRO S TEE W,
ML BT D £9 & MO
PEREISZ BT 2580 H 0 £,

Z DR OAE AR SR OAAGEERR GFI) 13, B
EFHUVR%9FETY, ZEL, fIGFERNTH-
Th., FERESIZ OW TR & & THR S E T
W GabH Y £,

FEET S DU IR RIBIZ 1T ERE O AR EEIR THE
TLETA, BHEFEREIER TH->Th, Mt
#5 D ZHFED B o TG BT K UMk 2o
TIMHRESETWEEEET,

REEIZDULNT

PR DO UGBTI DFR & 720 £4 DT, 1T
TLES W,

godE L7e G B Pl B SR~ S 72 IE LUTE
MBI E B2 D581E, BRIEOIRIN 2D £4 D
TITEELSIZSN,



MBC603SM-603SE-1203SE  #&#JO—Kk¥+ v X4

XY RYIR BT
54
A& 5 s & 5 B i 4 i A% T =

AS | 1629220000 FYRYZ AAs sy 1| R1-19fF
1 |1196921004 YRy 7 A 1

2 10740560002 v AHZXY ;19T 1

3 | 0744230000 ~AHAX¥Y;M3. 5X19T 1

4 11196930002 T 7k 1

5 10923142002 T 7k 1

6 | KFC08070300 |~Af 2% — Uzgu</l 8X7X30 1

7 | J6205 R—=nN_X7Y 7 6205 1

8 | J6206 R—=nN_XT7Y 7 6206 2

9 |J6207 R—=L_XT7VYV T 6207 1

10 | D306210 FAN— D306210 1

11 | D357212 FAN—) D357212 1

12 | D255208 FAN—) D255208 1

14 | DHC062 CHHE AU TF 62 1

15 | DHCO52 CHHERADU TF 52 1

16 | DC025 CHHE AU Y7 25 1

17 | DHCO72 CHAMAT TF 72 1

18 | BZ12040 ALk 8. 8 M12X40 4

19 | 1488850000 777 CP 1

21 |NZ12 JFvhk 8 2v=2 M12 4

22 | WSA12 NEXPFHX 33d7 M1 2 4

23 | 0008230000 PICHAA—; 1 1

24 0003960000 PICxy>y~7/ ;25 1




MBC603SM-603SE-1203SE  #&#JO—Kk¥+ v X4

XY RYIR BT
AHER| S & B il i 4 PR flE %k fisi =
25 | 082166000M Uy y ; 35. 5X3. 2 1
27 | 000825100M Vo7 S 1
28 0726221004 | A=A 1
29 | 0724411000 TL—FK 4
30 |BC10016 ALE 27T M10X16 8
31 | 142827000M |7 H~YFEL ; 10X60 1
32 | 000085200M | _X—HZ L ; 8X1. 6 1
33 0744270000 T L— Rl R— 1
34 | 0744280000 H— K 1
36 | BC06010 RLVR Z2Fy M6X10 4
37 | BC06020 ALK RAFr M6X20 3
38 1428100000 |F 4 AZFL—F ;S 1
39 | 1453780000 ARy RFL—KCP 1
40 | 1428200000 Vo 1
41 | 111946200M | 754 > k 2
42 | BC10020 AR AT M10X20 4
43 | 0822960000 YVyvx;10. 5X3 4
44 | 035144500M | A7 L—% 2
45 | BC10060 AR ZAFr M10X60 1
46 | WRS10 ESHEHR AT M10 2
47 | 000461200M v CP ;8 1
48 | WRS06 EIHH R AT M6 4 | A7 ar H50H
49 1451810004 |7 L— R ;XA ~<ED 4 | FFvav
AS | 1606110000 H—FRFASSY F7vay [48.50,614F
50 |0792222004 | H— RKCP 1 | A7y ar
51 | JSSCO70ASY YaAfrh /I SSC—70 1 | EFEREE AT
52 | 1141490000 TGV Ty auF gk 1
53 | 1602660000 TL—R,; ¥A<EFTASSY 1 | A7 vary /30,4959
54 | 1119942000 AILFL— k 1
55 | BRS10035 B X<ILB AT M10X35 4
56 | 0822960000 Tyl 10 4
57 | NS06 Fv b ZFr 13¥a2 M6 10
58 | WSS06 NREYPHR 2T 297 M6 4
59 [ WSS10 NREYPHAX AT 297 M10 17
60 | NS10 Fvh ZRFr 132 M1O 9
61 |BC06016 RLE A7y M6X16 4 | FFa v H50H
70 | 1602670000 TYTF—HASSY 1 | FTvay RIL~T74F
71 8006421004 |7 YT —XZCP 1
72 | BC10065 ALE AT M10X65 1
73 | NNC10 FAarFy s AT M10 1
74 | PS080032 AFYLTEY 8X 32 1
75 | BC12040 RILVE AT M12X40 2
76 | NS12 Fvh ZFr 132 M12 2
77 1413110004 | 7 L—FK 1
78 | 1602680000 Y v HAASSY 1 | F7Fvar RI9~81fF
79 | 8035130000 ARy TFL—KCP 1 | A7y ar
80 |8034940000 |54 A7 FL—FrCP 1 | A7Fvar
81 | 0744334000 Vs 1 | A7y ar
82 | 1645790004 | A2 L—/% 2 | A S av




MBC603SM-603SE-1203SE  #&#JO—Kk¥+ v X4

TL—L Ry H TR FIAF FYREZREZ U

28 \g

A& 5 s & 5 B i 4 i A% T =
1 | 1550591004 7L —ACP 1
2 11606050000 nU—Y L ECASSY I, I 2 | J3.4.5fF
3 |NZA24150 Fvh 8 132 M24XP1l. 50 2
4 | wsA24 NEPFHx 337 M24 2
5 | WRA24 eIV TR M2 4 2
6 | 1606060000 Ny 7V Z7EASSY ; I, 1T 1| RL7fF
7 |000088100M |X—XZE L ; 19X3 1
9 | 1453660000 TILSL— |k 3
10 | 1453180000 ARwy/N; 600 1 | MBC600,MBC1200
11 | 1453200004 KoY T CP 1
12 | BC08030 AL E 2Ty M8X30 4
13 | NNFO8 75 VFAmarF vy b M8 4
14 | 0328581000 HHE (B) 8
15 | 1453230004 7—ALCP ; F 1
16 | 1603230004 7—ALCP ; L 1
17 | 1603250004 7—ALCP ;R 1
18 | BZ16045 ALk 8. 8 M16X45 6
19 |NZ16 JFvh 8 232 M16 6
20 | WSA16 NEHFHEX 337 M16 6
21 | 042322200M Tyiv ;16 6
22 | BZ20065 ALbF 8.8 M20X65 2
23 | 1506681004 | /314 FCP 1
24 | WRA20 eI AR M20 2
25 | 1147391000 TILSL— |k 1




MBC603SM-603SE-1203SE  #&#JO—Kk¥+ v X4

TL—L Ry H TR FIAF FYREZREZ U

&S| 5 o5 5 B i 4 i A% fii =
26 | 111993100M v 1
27 | 000738000M JoFEr ;6 1
28 | BC08030 ALk AFr M8X30 8 | 120004
29 | NNFO8 750V FA Sy b M8 8 | 12000/H
30 | 1281310000 Ty ; 9. 0X2 16 | 120004
31 | 1453190000 P7RyN; 600 1 | 12000 &R v /3
32 | 145355000 | #F T ICP 1
33 | RBTC08025 REZUB AT M8X25 3
34 | NNCOS8 FAuerFvh AF MS 3
35 | 0328581000 PR (B) 6
36 | 155063100M YaAfr hHR—KCP 1
37 | 1397531004 77 FCP 2
38 | BZ12030 RLR 8.8 M12xX30 4
39 | WSA12 NREPHx 337 M1 2 4
40 | WRA12 AT M1 2 4
41 | 1453580004 AHXLRCP ;L 1
42 | 1453590004 AH L RCP ; R 1
43 | 114931000 |F /X B2 ;13 2
44 | 1125150000 F¥YAZ ;100 2
45 | 1125140000 FyYAHX ;100 (RAbhwsrs) 2
46 | NA20 Fvhk 4 232 M20 4
47 | WSA20 NEPFHEX 337 M20 4
51 |119158000M |A&—A7 4/ CP 1
52 | BSZ10035 afHZRNLE 7T M10X35 2
53 | NSZ10 afFZFvyh 8 232 M10 2
54 | WSA10 NEYPHF 337 M1O0 2
55 | 1600540000 VYoo 2
56 | 1600550000 | /N7 T 1
57 | CP04025 +FR_Raxry M4xX25 6
58 | NNFO4 754 uarFy b M4 6
59 | 1603270000 2—R:;3500X2600%X1300 1
60 | 1604030000 | ~2 A N—R A 1 | AF g
61 | 0927741000 FYL MU T IAF a0 A 1
62 | 1460111000 TPV A RRYHB TV g (18) 1
63 | 0889760000 T~ 350~450r pm 1
64 | 1339080000 STAR~—Z7F~L; 63 (vRLYF) 1
65 | 1061640000 TV a1 1
66 | 1064180000 FYL s rfay 37 1
67 | 1064210000 SV A3l 40 1
69 | 1453750000 FYL s XY A YUa1200 1 | MBC600.MBC1200
72 | 000761100M Tyiy ;16 6
79 | 150669000M | W T—; 22X 22 2
80 | WCH28 PINRx Va2 M2S8 4
81 | WSA20 NEYPHF 337 M20 2
82 10009330000 |/ "> ¥F:R—60CTIS 2
83 0009610000 |/ "> T ¥F;W—60CTIS 2

-4 -




MBC603SM-603SE-1203SE &r#iJAo— K&+ X4
A N VAR, ik SYVANE Ny b E SR -2 O & & R N

28 \@

AMEE] & o /B il T 4 R (R0 fii =
84 ILT200 a7 XA 4. TX202
85 IRF250 UJE—hr &4 7. 4X250

86 | 1600840000 TV kA B a Uk
87 | 1601500000 FYLy yay )y R

88 | 1601510000 7L ; 15km,/h

89 | 163189000M b

| | |—=]wW|©O




MBC603SM A& JO— KX+ X4
VARIULN=TIxRE

&S| oS & 5 B H 4 i) [EE T
1 | 145376000M T V% AHLAR—CP 1
2 | 092285300M LX—CP; A 1
3 10006880000 =X ;20 1
4 | BZ12035 ALk 8.8 M12X35 1
5 |NSZ10 afXZFvyh 8 232 M1O0 1
6 | 000085200M | N—ZEr;8X1. 6 2
7 | WRALO IR M10 1
10 |NZ12 Fvh 8 2v=2 M12 1
11 | WSA12 NxYPHx 337 M1 2 1
12 | 035189000M | /A 7 ; H T — 3
13 | 044098500M Jvi % ;10 1
14 | BSZ10075 afARLE 7T M1OX75 2
15 | 142925000 |27 %CP 1
16 | NNF10 75V FfuarFy b M1O0 1
17 | WSA10 NxYPHx 337 M1O0 1
18 | 035022300M Z kv XCP 1
19 | 142928000M 277 H1. 2X8. 8X155 1
23 | 149906000M T ¥ AR 1
24 | 145336000M 71 —FkrCP 1
25 | 1345360000 2y R R 1| R27ff
26 | BXI10070 ALk 10. 9 ¥ M10X70 1
27 |NSZ10 afXZFvyhk 8 232 M10 3
28 | 1430300000 FYL s AEY 1

-6-




MBC603SM A& JO— KX+ X4
VARIULN=TIxRE

AES| # A WA A W i %% i il
30 | BC10025 ANVE ATy M10X25 1
31 | NNC10 JAurFy b AT MI10 1
32 | 142823100M |7 XY FEL 10X18 1
33 | BSZ10050 aFEANLE 7T M10X50 1
34 | NNF10 77vvFA4nrrryk M10 1
ASY | 1593160000 |l /N—zx=w ;:;AOLG6 00O 1 | A1~5.10~19,28fF




MBC603SM-603SE ®&#!JO— KX+ X4
HAR. IS5y k. PICYUYIROLAA D)

e I R s B i 4 i A% T
2 | 102241000M HTF—;26X25 1
3 | 145410000M nu—Y>7%4KCP ;I 2
4 | 1454120004 777 vk 1
5 | 1454130004 VA% 2
6 | BSZ10030 afAZRLE 7 M10X30 4
7 | BSZ10040 afFHARLE 7T M10X40 4
8 |Nsz10 afXZFyh 8 232 M10 8
9 | WSALO NEXHFHX 337 M1O0 8
10 | 075290100M Ty ;10 4
11 | JPFL207G NAT7F5Y v PFL207 2
12 | JCS207LLU o=y haUXRTYL S CS207LLU 1
13 |NSZ10025 afHARLE 7T M10X25 2
14 |NSZ10 affHZFyh 8 22 M10 2
15 | WSA10 NEYPHF 337 M10 2
16 | 1454140004 PICYv¥ 7k 1




SSC-70
INJ—o 3420k

RHES| 8 5 & 5 | B i 4 i | 15% | fii
B2 E 4 4 J H
ASY | JSSCO70ASY | NU—YaA4k SSC—70 1
1 | JSSBO70IASY |YaA >k A>FZ7 SSB—70 1
2 | JSSCO702ASY |[YaAf vk TUuXZI SSC—70 1
3 | JPYSSB voY¥a—2 (SSB) 1
4 | JSSBASY ANRAL K 73 SSB AS050 1
5 | JFYSSB1 T4 T4 7a—r ArF (SSB) 1
6 | JSSB0701 NAT A2 F SSB—70 1
7 | JPC14ASY 707y 73 (14) 1
8 | JSSB0703 TR N~ A SSB—-70 1
9 | PS100050 AFY LY 10X50 2
10 | JEYSSB2 T4 vT 4 7a—r TuHX (SSB) 1
11 | JSSB0702 NRAT TIHX SSB—70 1
12 | JSSB0704 TR HNR— FTUH SSB—70 1
13 | JPYSSC <7 Fa—r SSC 1













nj
TH]

g

S—250306L

F & A # 0668555 F m 1 L K # 1 0 6 1 F ih 2
TEL 0123-26-1123
FAX 0123-26-2412

F M E XM 066855 FmmLEEREH:H; 1 06 1 F M 2
TEL 0123-22-5131
FAX 0123-26-2035

098-4100 XIEMEEMFLEHORY1191EFM44
TEL 0162-82-1932
FAX 0162-82-1696

BOIL B EPT 0802462 W LA 2 2% 1 THEH1 2% 4
TEL 0155-37-3080
FAX 0155-37-5187

PIREEXR 086-1152 FEZMHZFRHILET 2 TH 16 &F 2
TEL 0153-72-2624
FAX 0153-73-2540

FRIEETAEAMTILEMRE 1 111E]120F3
TEL 0198-46-1311
FAX 0198-45-5999

BB EHERKEHFSETH2 1 — 1
TEL 022-353-6039
FAX 022-353-6040

vl B ¥ P 3230158 HF K B /bt R 2 5 1 2 — 1
TEL 0285-49-1500
FAX 0285-49-1560

WA R EPT 4850081 BHRB /N THEANFTIHG 78 — 1
TEL 0568-75-3561
FAX 0568-75-3563

B = Z¥EpPr 7000973 MLEBMLUMAEAXRTFEHF 704 —103
TEL 086-243-1147
FAX 086-243-1269

He A B % fr 8618030 REAEBEAMER/MILAT1 6 3 9 — 1
TEL 096-389-6650
FAX 096-389-6710

OB EFT 8851202 EMEMB T ESWHETEELY 1003 —2
TEL 0986-53-2222
FAX 0986-53-2233

Hlge
Ho}
1113
e
3

1t & 8 ¥ PFr 028-3172

DiE

it
m

W& & % PFr 984-0032



